Warm Up 1/15

Simplify:
3x'y° - 4y*z° - 2xy°Z’
Y2 =24
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Homework Questions? K
WHY ARE MR AND MRS. NUMBER S0 HAPPY?

Find the simplest form for each expression below in the adjacent answer column. The letter of the exercise
goes in the box that contains the number of the corresponding answer.
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When multiplying an even number of
negative numbers, the product is positive.

When multiplying an odd number of
negative numbers, the product is negative.



PartB

When a number is raised to a power and then raised to a power again, the result follows a consistent
pattern. Copy and complete the table below in your notebook. Expand each expression into factored
form and then rewrite it with new exponents as shown in the example.

Original Form Factored Form Simplified
Exponent Form
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1. Work with your group to describe the pattern between the exponents in the original form and
the exponent(s) in the simplified exponent form. Write a statement to describe the relationship

you see.
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2. Visualize (20'2)8 written in factored form.
a. What is multiplied (what is the base)? QO

b. How many times is it multiplied? 4‘0 - (—) , g

c. Use the expression you visualized to help you rewrite the expression in simplified

exponent form. , 90

d. Describe in detail how you figured out what exponent to use in the simplified exponent
form.

e. InPartA, #2 you visualized the factored form of the expression 2012 - 208. Compare the
factored form of that expression to the factored form of (2012)2 from above. How are
the two expressions different?
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8-1 Study Guide and Intervention (continued)
Multiplying Monomials

Powers of Monomials An expression of the form (x™)" is called a power of a power
and represents the product you obtain when x™ is used as a factor n times. To find the
power of a power, multiply exponents.

Power of a Power For any number ¢ and all integers m and r, (™) = a™".

Power of a Product | For any number a and all integers m and n, (ab)™ = a™b™.

Simplify (—2ab?)3(a?)%

(—2ab2)3(a?* = (—2ab?3a®)
= (—2)3(a®)(B2)3(a®)
= (=2%@®)(@®)(b??
= (=23(H)(b??3
— —8q116

The product is —8a1158.

Exencises

Power of a Power
Power of a Product
Commutative Property
Product of Powers

Power of a Power

Simplify.
1. (y%)?2 2. (n")*
4. —3(ab*? 5. (—3ab%)3
7. (4a2)%(b3) 8. (4x)2(b3)
10. (2a3b2)(b3)2 11. (—4xy)3(—2x%)3
18. (2502)%( Sabe| 14. (22)%(—3x2)(dy%)

16. (—2n8y5)(—6n3y2)(ny)3 17. (—3a3n%)(—3a3n)4
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3. (x2)3(x%)

6. (4x2b)3

9. (x2y4)5

12. (—3i23)2(2)%)3

15. (2x3y222)3(x22)*

18. —3(2x)*4(4xPy)?

Glencoe Algebra 1




Homework

Finish Classwork



